
1) Decrease 322 by 32%

Answer: ____________

2) (-1013) + (-3290)

Answer: ____________

3)
38  Find Volume of 
               38       Cylinder 

Answer: ____________

4)
41  Find Volume of Cone 

40

Answer: ____________

5)
41  Find Volume of Cone 

40

Answer: ____________

6) 23077 ÷ 235

Answer: ____________

7)
35  Find Volume of 
                         Hexagonal Pyramid 

32
32

Answer: ____________

8) 'What is the probability of rolling a 
number less than 5.when rolling a dice

Answer: ____________

9) 9136 + 8888

Answer: ____________

10) 9352 + 1381

Answer: ____________

11) 200 ÷ 10

Answer: ____________

12) Decrease 224 by 41%

Answer: ____________

13) 10/
7 ÷ 9/1

Answer: ____________

14) An amount was increased by 8% to 
$231.00. Find the original amount.

Answer: ____________

15) Convert the following improper 
fraction 66/18 + 129/10 into a mixed 
number

Answer: ____________
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16) 'What is the probability of rolling a 
even prime number.when rolling a 
dice

Answer: ____________

17)
37  Find Volume of 
               30       Cylinder 

Answer: ____________

18) 28/
14 ÷ 34

/7

Answer: ____________

19) 28/
14 ÷ 34

/7

Answer: ____________

20) Decrease 480.8 by 59%

Answer: ____________

21) 26/11 x 9/14

Answer: ____________

22) 15 + 16 x 122 ÷ 152

Answer: ____________

23) (8 x 2-5) x (4 x 34)

Answer: ____________

24) Convert the following mixed number 
510/7 into an improper fraction.

Answer: ____________

25) Find perimeter of 
triangle
a = 3415 in , b = 
3753 in

Answer: ____________

26) (6 x 2-1) x (3 x 34)

Answer: ____________

27) (-3514) + 3381

Answer: ____________

28) 12/1 + 17/20

Answer: ____________

29) Increase 48 by 86%

Answer: ____________

30) 4370 x 2450

Answer: ____________
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31) 12/17 - 12/20

Answer: ____________

32) Round 8.781 to 2 decimal places.

Answer: ____________

33) 38/15 + 15/19

Answer: ____________

34) 38/15 + 15/19

Answer: ____________

35) Simplify 72:27

Answer: ____________

36) (10 x 48) + (6 x 71)

Answer: ____________

37) Find the mean of the following set of data:

22, 1, 56, 20

Answer: ____________

38) Decrease 173 by 73%

Answer: ____________

39) Decrease 173 by 73%

Answer: ____________

40) Find perimeter of 
square having each 
side (s) equals 4980 m

Answer: ____________

41) Convert the following mixed number 
1615/10 into an improper fraction.

Answer: ____________

42) Convert the following mixed number 
1615/10 into an improper fraction.

Answer: ____________

43) 32.9 x 38.1

Answer: ____________

44) What would you multiply by to 
increase an amount by 83%?

Answer: ____________

45) 7048.5 - 1299.3

Answer: ____________
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46) Round 15.13829800253914 to the 
nearest whole number.

Answer: ____________

47) (11 ÷ 5) - 5 x 11

Answer: ____________

48) (8 x 11) / (8 x 9-1)

Answer: ____________

49) 90 x (-93)

Answer: ____________

50) 59% of 253

Answer: ____________

51) 59% of 253

Answer: ____________

52) Find the mean of the following set of data:

74, 90, 0.8, 61, 73, 0.5, 96

Answer: ____________

53) Round 2.793799577532345 to the 
nearest whole number.

Answer: ____________

54) Round 2.793799577532345 to the 
nearest whole number.

Answer: ____________

55) Find the median of the following set of data:

31, 30, 13, 31, 33, 22, 7, 12, 32, 19, 
29, 31, 33, 23, 8, 38, 18, 26, 28, 19

Answer: ____________

56) Find the median of the following set of data:

31, 30, 13, 31, 33, 22, 7, 12, 32, 19, 
29, 31, 33, 23, 8, 38, 18, 26, 28, 19

Answer: ____________

57) Find area of 
triangle s = 1970 cm

Answer: ____________

58) 92 x (-52)

Answer: ____________

59)

A B = 77
Find the Angle at side A.

Answer: ____________

60) Solve 17s2 - 10s - 7 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________
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61) (7 x 11) x (9 x 47)

Answer: ____________

62) 369/12 ÷ 1011/16

Answer: ____________

63) 98% of 459

Answer: ____________

64) 9847 - 6000

Answer: ____________

65) Round 3.5752507 to 4 significant 
figures.

Answer: ____________

66) (-4213) - (-1435)

Answer: ____________

67) 'What is the probability of rolling 
factors of 5.when rolling a dice

Answer: ____________

68) 59000 ÷ 1000

Answer: ____________

69) Write 1 x 106 as a normal number.

Answer: ____________

70) 650 ÷ 10

Answer: ____________

71)
36

Volume of Cone 
36

Answer: ____________

72) Find the range of the following set of data:

2, 0.1, 16, 4, -6, -7, 18, 19, 8

Answer: ____________

73) Round 30.84889676902 to 4 decimal 
places.

Answer: ____________

74) Find the value of 'd' by completing 
the square of the following equation: 
2 + 8d + 15

Answer: ____________

75) Write 600 in standard form.

Answer: ____________
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76) What would you multiply by to 
decrease an amount by 17%?

Answer: ____________

77) 66.7 x 78.4

Answer: ____________

78) Round 0.6913164 to 2 decimal places.

Answer: ____________

79) Find the median of the following set of data:

40, 2, 22, 22, 27, 19, 5, 11, 14, 26, 
15, 10, 38, 34, 21, 2, 15, 10, 27, 21

Answer: ____________

80) Find the median of the following set of data:

40, 2, 22, 22, 27, 19, 5, 11, 14, 26, 
15, 10, 38, 34, 21, 2, 15, 10, 27, 21

Answer: ____________

81) 26796 ÷ 580

Answer: ____________

82) 39
Find Volume of 

                        Rectangular Pyramid 
30

38

Answer: ____________

83) Write 7 x 104 as a normal number.

Answer: ____________

84) Share 85 in the ratio 45:40

Answer: ____________

85) A number was shared in the ratio 
9:99. The smaller share was 5. What 
was the larger amount?

Answer: ____________

86) 75.9 x 79

Answer: ____________

87) 'What is the probability of rolling 
factors of 15.when rolling a dice

Answer: ____________

88) 327/18 x 86/7

Answer: ____________

89) Solve by factorising 
j2 + 1j - 2 = 0

Answer: ____________

90) Round 3.5479680 to 6 decimal places.

Answer: ____________
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91) Simplify 66:40

Answer: ____________

92) 19/
15 ÷ 18

/16

Answer: ____________

93) 'What is the probability of rolling 
factors of 1.when rolling a dice

Answer: ____________

94) Write 10 x 102 as a normal number.

Answer: ____________

95) An amount was decreased by 3% to 
$125.00. Find the original amount.

Answer: ____________

96) Find area of triangle
a = 6028 in, b = 
9711 in

Answer: ____________

97) 10 x (-50)

Answer: ____________

98) 1661.2 + 2755.1

Answer: ____________

99) 47558.6 ÷ 593

Answer: ____________

100)

'Name the type of angle.

Answer: ____________

Total: ___ / 100
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Answers:

1) 218.96 2) -4303 3) 172385.47208778 4) 17174.039839624 5) 17174.039839624 6) 98.2 7) 31038.350471634

8) 2/3 9) 18024 10) 10733 11) 20 12) 132.16 13) 10/63 14) $213.89

15) 197/30 16) 1/6 17) 26153.758841135 18) 7/17 19) 7/17 20) 197.128 21) 140/77

22) 23) 81 24) 45/7 25) 10921in 26) 729 27) -133 28) 1217/20

29) 89.28 30) 10706500 31) 9/85 32) 8.78 33) 392/285 34) 392/285 35) 8 : 3

36) 655402 37) 24.75 38) 46.71 39) 46.71 40) 19920m 41) 35/2 42) 35/2

43) 1253.49 44) 1.83 45) 5749.2 46) 15 47) 48) 9 49)

50) 149.27 51) 149.27 52) 56.47 53) 3 54) 3 55) 24 56) 24

57) 1680478.9947735cm 58) 59) 103 60) s = 1 or -0.4 61) 1032192 62) 325/57 63) 449.82

64) 3847 65) 3.575 66) -2778 67) 1/3 68) 59 69) 1000000 70) 65

71) 48858.048948628 72) 26 73) 30.8489 74) (d + 4)2 - 1 75) 6 x 102 76) 0.83 77) 5229.28

78) 0.69 79) 20.5 80) 20.5 81) 46.2 82) 14820 83) 70000 84) 1 : 84

85) 55 86) 5996.1 87) 1/2 88) 28655/63 89) j = 1 or -2 90) 3.547968 91) 33 : 20

92) 117/135 93) 1/6 94) 1000 95) $121.25 96) 29268954in 97) 98) 4416.3

99) 80.2 100) Obtuse
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